3.5 Graphing Linear Inequalities
Name: _______________________________
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MODELING In order for the drama club to cover the expenses
of producing a play, at least $1500 worth of tickets must be sold.

a. Use a model to write an inequality that represents
this situation.

b. Graph the inequality.

c. Eighty adults and 110 students attend the play. Does the
drama club cover its expenses? Explain.
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Determine whether point P is a solution of the linear inequality.

Ly=-2x+1,P2,2) 2.x < 2;P(1,0) 3.y =3x — 2;P(0,0)
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Choose the linear inequality that describes each graph.
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Graph each linear inequality.




